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QUESTION 1

What must be active on the VMware side in order for EOS to have visibility into vNIC counters?
A. vSwitches must be used.

B. Distributed switches must be used.

C. vSphere must be used.

D. vNIC counters are not supported in VMTracer.

Correct Answer: A

QUESTION 2

What Arista feature helps with the diagnosis of microbursting events?
A. LANZ

B. DANZ

C. PANZ

D. FANZ

Correct Answer: A

Reference: https://www.safaribooksonline.com/library/view/arista-warrior/9781449358921/ch01.html

QUESTION 3

What is the name of the Arista EOS feature that allows you to set triggers and perform actions on those triggers?
A. Event Manager

B. Event Monitor

C. Event Trigger

D. Event History

Correct Answer: A

Reference: https://eos.arista.com/introduction-to-managing-eos-devices-automation-and-extensibility/

QUESTION 4

What does %1 signify when writing an alias statement in CLI?
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A. It means that Arista is number one.

B. %1 is a placeholder that will be replaced with token 1 when the alias is called.
C. It doesn\\'t mean anything.

D. %1 means that the CPU is limited to 1% when the alias is called.

Correct Answer: B

Reference: https://eos.arista.com/find-the-next-free-vian-id/

QUESTION 5

On an Arista switch, what two commands can you use to write your changes from the running-configuration to the
startup-configuration?

A. write

B. copy running-config startup-config
C. save

D. save memory

Correct Answer:. AB
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